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Quant Mega Quiz for SSC Tier - 1 (Solutions)

$1. Ans.(a)
Sol.

m? — n® = (m-n) (m +n)

Since (m - n) is an even number, (m + n} will also be an even number.
We know that product of two even numbers will always be divisible by 4.

[m-n)=x(m+n)=(2=2)(..]=4(..]]

$2. Ans.(c)
Sol.

Let the numbers be x and y.
x+y=7a

X-v=a

xy = 24a

on solving we getx=4a & v=3a
xy=12a2

12a2=24a, a=2

Required product = 24%2 = 48

S3. Ans.(a)
Sol.
Let %, v be the required digits.

The number is to be divisible by 99, i.e., 9 and 11 both.
~ Sum of digits is to be divisible by 9, i.e,,
3+4+2+2+2+1+3+x+y=17+x+y

is to be divisible by 9 and,
(y+3+2+2+3)-(x+1+2+4)=0

or, multiple of 11, i.e, v —x + 3 = 0 or multiple of 11

now check from option. English Edition

~x=1,y=9

S4. Ans.(b) S S c

Sol.
Last digit of 3% x 4% x 57 SUPREME
Last digitof 3% =3 =3 BOOKS PACK 2021
Last digitof 4 =4 x4 x4 =14 By ADDA247
Last digitof 57 = 5
Last digitof 3% x 4 x 57 =3 x4 x5=0 TOTAL 7 BOOKS
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$5. Ans.(a)

Sol.

86400 = 27 x 3% x 5%

Number of factor=(7+ 1) (3+ 1) (2 + 1)
=Bx4x3=96

$6. Ans.(a)
Sol.
a*b = abc = 180
a’b=2x2x3x3x5
= amust be equalto 1 and b = 180
(because there is no any factor which repeats three time)
abc =180
1=180=c=180
c=1

S$7.Ans.(d)
Sol.
Last digit of dividend = 1
Last digit of divisor=7
Last digit of quotient should b 3
4767 x 3 =14301
4767 x 20 =95340
4767 = 100 = 476700
4767 x (3 + 20 + 100) = 586341
Missing digit are = 586

$8. Ans.(b)

Sol. The number is 68 x 269 = 18292. 18292, when divided by 67, leaves a remainder of 1.

S9. Ans.(d)

Sol.

10x+y-(x+y)=81

or, 10x+y-x-y=81

or, 9x = 81 Lx=9

Hence, all such numbers are as follows: 90, 91, 92, 93, ... 99.

$10. Ans.(a)
Sol.

We have, difference of the two digits 29—? =3
Sum of the two digits = 11

. 11+ 1-3
Now, the two digits are

® and —,i.e,7 and 4

Thus, the number is 47 because 47 < 74,
You can check it: 74 - 47 = 27,
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S$11. Ans.(b)

Sol.
Faster : Slower
Length — 3 : 4
Speed — 4 : 3
NDWJ|
3x +240 24 4
4x + 240 40 3
=x=240m
Faster Slower
S Length= 720m 060m
Faster Slower
Speed = 4 : 3
%104 Lx10
40 30
Required time = 20290~ 24 sec
$12. Ans.(c)
Sol.
28 _ #rl
h R®
12R*=r"h
N = ETIRS =marh
N x EHRS = m(12R%)
N=9
$13. Ans.(a)
Sol.
i Q

7

Da:—c—>|{ — [.-a-c}—:pQ

From A PQR

(\n’bz—cg)z+{a—c]2 =(‘#a2 —52)2
b?-c?+a®+c?-2ac=a%-b?
bi=ac&bm=ance
m=2,n=1&p=1
mi+n®+pi-4=6-4=2
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S$14. Ans.(d)

Sol.
cosec (57° +8) -sec (33°-8)=0
sin15° sec75° = T~ = 1

naRTR*

sindf® secdd® =1
cosec [307)=2

so, final value of given function is 2.

$15. Ans.(c)
Sol. Let x3° =y

Then, x1%5 = y*

Given,

1
+-=3
YTy
—y3e—+ 2
-y +},1
18+ 2=20

$16. Ans.(c)

Sol. abcabc is divisible by 7, 11, 13.
So,

a=7

b=8

c=9
(a+b+c)*-76=576-76=7500.

$17. Ans.(a)

Sol.

=ﬁ X 8+ 5(8) —8
=2+40-8=34

$18. Ans.(d)
Sol.

3607 _ 360

Exterior angle = — = —
m 17

n=17
req. Ratio =
7:1

nin-3)
—::Mn

$19. Ans.(c)
Sol.

o

—_—]—a P — 7 — ()
%150

300
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$20. Ans.(b)

Sol.

Ifa?+b®+c®-3abc=0
Then(a-b)?+(b-c)*+(c-a)’=0
(x+6)°+[(2x-12)*+(-x+6)° =0
Xx=6

$21. Ans.(b)
Sol.

z=3,y=5x=1

Satisfies

15° =1,5% = 125 & 3° = 243
9%+ 10y-18z=9+50-54=5

$22. Ans.(b)
Sol.
Ixrh _ 2

2 1
h/r=2/1;h=2r
2nrh + 2nr? = 23100
4mr? + 2nr? = 23100 [h = 21]
6mr = 23100
23100 % 7
22 %6
r=35h=70
Volume of cylinder = mr*h
== X 35X 35X 70

= 269500 cm?

T"2

$23. Ans.(b)
Sol.
Total surface area of the remaining part

=TSA+8x CS.A

=2mr(r+h) + 8 = 2nr;hy

= 2m [14(14 + 15) + 8 x 3.5 x 5]
= 21 [14 x 29 + 140]

=2x§x545=3432
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S24. Ans.(a)
Sol.

Height of cylinder in bullet=3.5-2.1=1.4

Total bullets =

Volume of solid cylinder

Volume of cylinder in Bullet+Veolume of hemizsphere

mx(7)% %21

- X (21) x 1.4+ % xmx(2.1)3

$25. Ans.(b)
Sol.

$26. Ans.(a)
Sol.
Leta=bh=1

2
1+1=2(4x1-1-1)

2 = 2 (satisfies)
(1)*+(1)*=2

$27. Ans.(b)
Sol.

a®+ b =91
! N |
27 64 64 8
a=3,b=4,c=2
atb+c=9
3+4+2=9

9= 9 (Satisfies)
abc=3x4x2=24

$28. Ans.(c)
Sol.

% -4x°+19=6(x-1)
x® (x-4)=6x-25
X (x-4)=6(x-4)-1
5 1
x*P=6-——

x- 4

2 —
x° + =6
x—4

b* +c* =72

a® 4+ 3 =35

11
27 8

=83
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$29. Ans.(b)

Sol. ENGLISH

xy =12 -
(xy) = (4 3)

()~ (6,2) SSC CGL
Verifying

eyt 4 (xF+y7) [x, v = 4, 3] TIER-I / PRE E-KIT

=256+ 81+ 144

= 481 (satisfied) Ace - Advanced | Arithmetic | English
X —xy+yP=(4P —-4x3+(3)° Reasoning | General Awareness
=16-12+9 —

- 13 Validity : 6 Months
$30. Ans.(b)

Sol.

y*¥+ts = 1024 = 210 or 45

z%tY =729 = 93 or 3%

x¥** =1 = impliesx=1

Letz=9&y=2

z¥tY = 913 = 729 [Satisfies]
y.z'-l-z — 31+9 = 1024

(z + 1)P#+1 = (g 4 1)3+i+1

= 10% = 10000
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